South

ern Tier

Power Factor Correction: Determine System KVAR Requirements

If you know your system’s power factor and wish to add correction, the following chart will help you determine
the amount of kVARs needed to achieve your targeted power factor percentage.

To use:

e |dentify “Target” Power Factor (PF)
e  Slide to the row indicating current PF
. Multiply your kW by the “factor” selected. This will be

your required kVAR

Example: Determine kVAr rating required to improve the
PF from .7 to .95, if the active power (kW) is 75 kW.

Kvar = active power (kW) X kW multiplier

75 kW x .692 = 51.9 (kvar)

Target Power Factor (%)

Original Power Factor (%)

90 91 92 93 | 94 | 95 [ 9 [ 97 [ 9 [ 99 [ 100
Multiplying Factor

60 0.849 | 0.878 | 0907 | 0938 [0970 | 1.005 | 1.042 | 1.083 | 1.130 | 1.191 | 1.333
61 0.815 | 0.843 | 0.873 | 0904 | 0.936 | 0.970 | 1.007 | 1.048 | 1.096 | 1.157 | 1.299
62 0.781 | 0.810 | 0.839 | 0.870 | 0903 | 0937 |0974 | 1.015 | 1.062 | 1.123 | 1.265
63 0.748 | 0.777 | 0.807 |0.837 |0.870 | 0904 | 0941 | 0982 | 1.030 | 1.090 | 1.233
64 0.716 | 0.745 | 0.775 | 0.805 | 0.838 | 0.872 | 0909 | 0950 | 0.998 | 1.058 | 1.201
65 0.685 | 0.714 | 0.743 | 0.774 | 0.806 | 0.840 | 0.877 | 0919 | 0966 | 1.027 | 1.169
66 0.654 | 0.683 | 0.712 | 0743 |0.775 | 0.810 | 0.847 | 0.888 | 0935 | 0.996 | 1.138
67 0.624 | 0652 | 0.682 |0.713 | 0.745 | 0.779 | 0.816 | 0.857 | 0.905 | 0.966 | 1.108
68 0.594 | 0.623 | 0.652 | 0.683 | 0.715 | 0.750 | 0.787 | 0.828 | 0.875 | 0.936 | 1.078
69 0.565 | 0.593 | 0.623 | 0.654 | 0.686 | 0.720 | 0.757 | 0.798 | 0.846 | 0.907 | 1.049
70 0.536 | 0.565 | 0.594 | 0.625 | 0.657 | 0.692 | 0.729 | 0.770 | 0.817 | 0.878 | 1.020
71 0.508 | 0.536 | 0.566 | 0.597 | 0.629 | 0.663 | 0.700 | 0.741 | 0.789 | 0.849 | 0.992
72 0.480 | 0508 | 0538 |0569 |0601 |0635 |0672 0713 |0761 |0.821 | 0.964
73 0452 | 0481 | 0510 | 0541 | 0573 | 0.608 | 0.645 | 0.686 | 0.733 | 0.794 | 0.936
74 0.425 | 0453 | 0483 | 0514 | 0.546 | 0.580 | 0.617 | 0.658 | 0.706 | 0.766 | 0.909
75 0.398 | 0.426 | 0.456 | 0.487 | 0.519 | 0.553 | 0.590 | 0.631 | 0.679 | 0.739 | 0.882
76 0371 | 0400 | 0429 | 0460 | 0492 | 0526 |0.563 | 0.605 | 0.652 | 0.713 | 0.855
77 0.344 | 0373 | 0.403 | 0433 | 0466 | 0.500 | 0.537 | 0.578 | 0.626 | 0.686 | 0.829
78 0.318 | 0347 | 0376 | 0407 | 0439 | 0474 | 0511 | 0552 |0.599 | 0.660 | 0.802
79 0292 | 0320 | 0350 | 0381 |0413 | 0447 | 0484 | 0525 | 0573 |0.634 |0.776
80 0.266 | 0.294 | 0.324 | 0355 |0.387 | 0421 | 0456 | 0499 |0.547 | 0.606 | 0.750
81 0240 | 0268 | 0298 |0329 [0361 |0395 |0432 [0473 |0521 |0581 |0.724
82 0214 | 0242 |0.272 | 0303 |0335 |0.369 | 0406 | 0.447 | 0.495 | 0.556 | 0.698
83 0.188 | 0.216 | 0.246 | 0.277 | 0.309 | 0.343 | 0.380 | 0.421 | 0.469 | 0.530 | 0.672
84 0.162 | 0.290 |0.220 |0.251 |0.283 | 0317 |0.354 | 0.395 | 0.443 | 0.503 | 0.645
85 0.135 | 0.164 | 0.194 | 0.225 | 0.257 | 0.291 | 0.328 | 0.369 | 0.417 | 0.477 | 0.620
86 0.109 | 0.138 | 0.167 | 0.198 |0.230 |0.265 | 0302 |0343 | 039 | 0451 | 0.593
87 0.082 |0.111 |0.141 |0.172 |0.204 |0.238 |0.275 | 0316 | 0.364 | 0.424 | 0.567
88 0.055 | 0.084 | 0.114 | 0.145 |0.177 |0.211 | 0.248 | 0.289 | 0.337 | 0.397 | 0.540
89 0.028 | 0.057 | 0086 |0.117 |0.149 |0.184 |0.221 |0.262 |0.309 |0.370 |0.512
90 0.029 | 0.058 |0.08 |0.121 [0.156 |0.293 [0234 [0281 |0342 |o0.484
91 0.030 | 0.060 | 0.093 | 0.127 | 0.164 | 0.205 | 0.253 | 0.313 | 0.456
92 0.031 | 0.063 |0.097 |0.134 |0.175 | 0.223 | 0.284 | 0.426
93 0.032 | 0067 |0.104 |0.145 |0.292 |0.253 | 0.395
94 0.034 | 0071 |0.112 |0.160 |0.220 | 0.363
95 0.037 | 0.078 |0.126 | 0.186 | 0.329
9% 0.041 | 0.089 | 0.149 | 0.292
97 0.048 | 0.108 | 0.251
98 0.061 | 0.203
99 0.142




